
01

CAUTION: Please check your model car carefully before attemp to run!

COPYRIGHT © 2024 NEXXSPEED

®

NEXXSPEED

1

Dark Knight Conversion Chassis Kit - FCX24 INSTRUCTION

Dark Knight Conversion Chassis Kit

NS-FC24015B

REV. FC24015B-301023-01

.....x4

M1.6x4mm Cap Screw

.....x12

M2x4mm Button Cap Screw

.....x4

M2x8mm Button Cap Screw

.....x10

M2x6mm Button Cap Screw

.....x2

Nut M2

.....x2

Lock Nut M2

Front Frame Cover

NS-FC24015FF

Crawler

Aluminum Frame

NS-FC24015BF

Aluminum Brace Tubes

NS-FC24015AT

Battery Holder

NS-FC24015PB

(6x)M2x4mm

Button Cap Screw

M2040BSS

CA

Servo Holder

NS-FC24015ST

Nut M2

Rear Frame Cover

NS-FC24015RF

(4x)M1.6x4mm

Cap Screw

M1640CSS

(6x)M2x4mm

Button Cap Screw

M2040BSS



02

CAUTION: Please check your model car carefully before attemp to run!

COPYRIGHT © 2024 NEXXSPEED

®

NEXXSPEED

2

Dark Knight Conversion Chassis Kit - FCX24 INSTRUCTION

Dark Knight Conversion Chassis Kit

NS-FC24015B

REV. FC24015B-301023-01

Motor

(Stock part

not included)

Aluminum Skid Plate

NS-FC24015FS

(4x)M2x6mm

Button Cap Screw

M2060BSS

(4x)M2x8mm

Button Cap Screw

M2080BSS

(4x)M2x6mm

Button Cap Screw

M2060BSS

Lock Nut M2

M2LN

(2x) M2x6mm

Button Cap Screw

M2060BSS

Servo

(Stock part

not included)

Crawler Carbon Head

NS-FC24015CC

Right Frame Cover

NS-FC24015FR



03

CAUTION: Please check your model car carefully before attemp to run!

COPYRIGHT © 2024 NEXXSPEED

®

NEXXSPEED

3

Dark Knight Conversion Chassis Kit - FCX24 INSTRUCTION

Dark Knight Conversion Chassis Kit

NS-FC24015B

REV. FC24015B-301023-01

.....x8

M1.6x4mm Cap Screw

.....x4

Nut M2

.....x4

2x4.2x1mm Aluminum Washer

Roof Cover

NS-FC24015CR

Receiver Holder

NS-FC24015RH

(8x)M1.6x4mm

Cap Screw

M1640CSS



04

CAUTION: Please check your model car carefully before attemp to run!

COPYRIGHT © 2024 NEXXSPEED

®

NEXXSPEED

4

Dark Knight Conversion Chassis Kit - FCX24 INSTRUCTION

Dark Knight Conversion Chassis Kit

NS-FC24015B

REV. FC24015B-301023-01

(4x) Brass Spacer

NS-FC24015BW

 (2x)Y Links

(Stock part

not included)

(4x)Links

(Stock part

not included)

(4x)Shock

(Stock part

not included)

(4x) Screw

(Stock part

not included)

(4x)2x4.2x1mm

Aluminum Washer

204210WA

(4x)Nut M2


	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


